+
it =

OO# B (A3 3) $rep ™0 B HRE

o
1

itis

™)

i3

FochirE 4 HoTHE 4y
g | R RS sy | R e -
(A% | (3 %eH (A% | (3%
P nE) A ER)
BAAY | HEAFL | REAIAR | REAFT | #EAT L | RLAFRRE | AFRAREE
CEER | (3)2 B | 2o R | EE R | a(3)2 B | 25 [ | AR AT
At ] | TR 9B | a4 ity | v bRt R 96 | 4 rtdgs o & | B A1 TER
it 20% - | HAPFLE & | %5 o K Fi0 5| 20% - (30%) | RAPEL & | FABEW s | 4RI EE
(30%) L Y IR T FRA DA | OIS 6 | AR EHI
CREER | RES R CRESERL | ER IR [T LG
e YRRt i k2 PR g | 2R ] | T I A (T
G0 Rl | ERLE ) ik RE]|18% 0 5 =R | R EEE

RS P
AR B
ie 320 2 TR

a‘\ué :
LB X =®E
FEPFT o

2B EE
feskd B
B R 1 E
o

1= EE
RIS
Lok -4 1
e

4. f|* ~ %

> 2, 4L
P\ ?K /ﬁ‘ S

TP 8 VRTE RIS
7.3 B4 Bk ALY A

18% » 4 & &
FF P it
AERDBRE
20% - (96 = 8
Vi)

#AAF
AR EE
fe 320 L TR
g
LEB®EF
FAY 3T
2B EE
FeRRE Ik
BB 1ERME
3R EE
Rl
AR
o
4.1 & F
2Rk Sk
fEk = 3 T
PRI i
AR L P
¥ o
5.4 % B
EFEY R
B
p-w

6. 1 4 R
%%ﬂ; i L
BT A
A )

TR it &
20% - (9% # 8
i)




AR S AN Sz

w3 SR -

2 o 7.4 2% LB

(30%) LR S

(30%)

0000 ooooo (40 00000 ooooo (40
(40%) %) (40%) %)

0000 ooooo (30 00000 ooooo (30
(30%) %) (30%) %)




